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1) What is the npyonn between n"- and >"3 in regards to when y»nn becomes 110X to eat?

2) Why do the o°non say that it is 70K to eat yan earlier than the n"nn MoR ("w0)?

3) Which 3 things do »n" and "1 agree on?

4) How do we know that they both agree that y»n does not become 7707 7» MoK at night (°"w9)?

5) Explain the question of the &n3, "121n"?

6) What are the two o°po» that »»ax quotes?

7) Why do these o°»05 seem to be a problem (>"w=)?

8) How do we answer the contradiction?

9) How does this (partially) answer our question of "1212"?
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